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Let’s Practice!

1. What hybridization change does the carbon atom undergo in the combustion of methane?

CHalg) + 2 Oa(g) = CO.(g) + 2 H,0(g)

a. sp~>sp’ K
b. sp?->sp® 1 B
@sp:"—%’sp H'CI’H = 28
d. sp’=>s
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2. How many sigma and pi bonds are present in the following molecule?

a. Bsigma bonds and 1 pi bond
b. 8 sigma bonds and 2 pi bonds
c. 10sigma bonds and 2 pi bonds H3C\
O 11 sigma bonds and 1 pi bond C
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CC|4, CO:, PC13, PCls, SFg ¢~

3. Which of the following does not describe any of the molecules above?

a. tetrahedral c. octahedral

b. linear @ square planar

4. Label the hybridization at each carbon in the molecule below.

He K III
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H-C=C-C-C-H
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C1 Cc2 c3 c4

a. sp sp sp spid

sp sp sp? sp?

c. sp sp sp sp?

sp?  sp sp

d. sp
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5. How many sigma bonds and pi bonds are in the following molecule?

I
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five o and two
five o and three ©t
five o and five it

d. seven oand twon
@ seven o and three ©t
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6. Complete the chart below:

HCCCH3
Lewis structure:
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Label the hybridization AND molecular geometry around each carbon in the molecule above.
Total # of sigma bonds: b
Total # of pi bonds: 2
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H;CCH -0 - CH;s
Lewis structure:
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Label the hybridization AND molecular geometry around each carbon and oxygen in the molecule above,

Total # of sigma bonds: 9

Total # of pi bonds: |




